

Special Projectively Flat (α, β) -Metrics^①

XIANG Chun-huan¹, CHENG Xin-yue²

1. Department of Mathematics and Computer Science, Chongqing University of Arts and Science, Yongchuan Chongqing 402160, China;

2. College of Mathematics and Physics, Chongqing Institute of Technology, Chongqing 400050, China

Abstract: In this paper, the authors study approximate exponential metric and prove that the second approximate exponential metric $F = \alpha + \beta + \frac{\beta^2}{2\alpha} + \frac{\beta^3}{6\alpha^2}$ is locally projectively flat if and only if α is projectively flat and β is parallel with respect to α , where $\alpha = \sqrt{a_{ij}y^i y^j}$, $\beta = b_i y^i$. And the same result is obtained for the higher order approximate exponential metric.

Key words: (α, β) -metric; projectively flat Finsler metric; exponential metric; approximate exponential metric

CLC number: O186

Document code: A

Hilbert Fourth Problem is one of important problems in Finsler geometry, which is to study and characterize locally projectively Finsler metrics. It is important and interesting to study some projectively flat Finsler metric. Some special projectively flat (α, β) -metrics have been studied. The main purpose of this paper is to study and characterize locally projectively flat approximate exponential metric. As we all know, the exponential metric

$$F = \alpha e^{\frac{\beta}{\alpha}} \quad \alpha = \sqrt{a_{ij}y^i y^j} \quad \beta = b_i y^i \quad (1)$$

is an important metric in Finsler geometry. In the exponential metric, the 1-form $\beta = b_i y^i$ was originally to be induced by earth gravity. Hence we could regard b_i as the infinitesimals. Then it induces the approximate exponential metric if we neglect all powers not less than k of b_i for some positive integer k . It can be expressed as the form

$$F_\infty = \sum_{k=0}^{\infty} \frac{\beta^k}{\alpha^{k-1} k!} \quad (2)$$

where k is natural number and zero.

We regard b_i as very small numerically. If we neglect all the power not less than 2 of b_i in(2), then $F = \alpha + \beta$ is a Randers metric. In this case, there are non-trivial projectively flat metrics (i. e. α is not locally projectively flat and β is not parallel^[1]). If we neglect all the powers not less than 3 of b_i in (2), then $F_2 = \alpha + \beta + \frac{\beta^2}{2\alpha} + \frac{\beta^3}{6\alpha^2}$ is called the first approximate exponential metric. It is a special case in [1] and also are non-trivial projectively flat metrics. Here, we neglect all the power not less than 4 of b_i in(2), then

$$F = \alpha + \beta + \frac{\beta^2}{2\alpha} + \frac{\beta^3}{6\alpha^2} \quad (3)$$

① 收稿日期: 2007-01-10

基金项目: 国家自然科学基金资助项目(10671214); 重庆市教委自然科学基金资助项目(CSTC2006BB8394).

作者简介: 相春环(1980-), 女, 山东聊城人, 助教, 主要从事微分几何的研究.

is an approximate metric to the exponential metric called the second approximate exponential metric.

Theorem 1 The second approximate exponential metric $F = \alpha + \beta + \frac{\beta^2}{2\alpha} + \frac{\beta^3}{6\alpha^2}$, is locally projectively flat if and only if

- (i) β is parallel with respect to α ;
- (ii) α is projectively flat i. e. of constant curvature.

Proof For $F = \alpha + \beta + \frac{\beta^2}{2\alpha} + \frac{\beta^3}{6\alpha^2}$, that is, $F = \alpha\phi(s)$, $\phi(s) = 1 + s + \frac{s^2}{2} + \frac{s^3}{6}$, $s = \frac{\beta}{\alpha}$. According to the relation of the geodesic coefficients G^i and G_a^i ([1]), that is,

$$G^i = G_a^i + \alpha Q s_0^i + J \{-2Q\alpha s_0 + r_{00}\} \frac{y^i}{\alpha} + H \{-2Q\alpha s_0 + r_{00}\} \left\{ b^i - s \frac{y^i}{\alpha} \right\} \quad (4)$$

where

$$\begin{aligned} Q &= \frac{\phi'}{\phi - s\phi'} \\ J &= \frac{\phi'(\phi - s\phi')}{2\phi(\phi - s\phi') + (b^2 - s^2)\phi''} \\ H &= \frac{\phi''}{2((\phi - s\phi') + (b^2 - s^2))\phi''} \\ s &= \beta/\alpha \quad b = \|\beta_x\|_\alpha \end{aligned}$$

and the condition that (α, β) -metric is projectively flat Finsler metric^[1], we can easily get the following by using Maple programm when assume that F is projectively flat

$$\begin{aligned} &\left(1 - \frac{s^3}{3} - \frac{s^2}{2}\right) \left(-\frac{8s^3}{3} - 3s^2 + 2b^2s + 2 + 2b^2\right) (a_m l \alpha^2 - y_m y_l) G_a^m + \\ &\alpha^3 s_{l0} \left(1 + s + \frac{s^2}{2}\right) \left(-\frac{8s^3}{3} - 3s^2 + 2b^2s + 2 + 2b^2\right) - \\ &2\alpha^2 s_0 \left(1 + s + \frac{s^2}{2}\right) (1 + s) (b_l \alpha - s y_l) + \\ &\alpha r_{00} (1 + s) \left(1 - \frac{s^3}{3} - \frac{s^2}{2}\right) (b_l \alpha - s y_l) = 0 \end{aligned} \quad (5)$$

Plugging $s = \frac{\beta}{\alpha}$ into the above equation, we note that the coefficients of α must be zero (because α^{even} is a polynomial in y^i). Then the above equation is equivalent to the following two equations

$$\begin{aligned} &\left[\frac{8}{9}\beta^6 + \left(\frac{3}{2} - \frac{2b^2}{3}\right)\alpha^2\beta^4 - (4 + b^2)\alpha^4\beta^2 + (2b^2 + 2)\alpha^6\right] (b_m \alpha^2 - y_m \beta) G_a^m - \\ &\alpha \left\{ s_0 \left[\frac{\alpha^2\beta^5}{3} + \frac{5\alpha^4\beta^3}{3} - 2\alpha^6\beta\right] + r_{00} (b^2\alpha^2 - \beta^2) \left(\frac{\beta^4}{3} + \frac{\alpha^2\beta^2}{2} - \alpha^4\right) \right\} = 0 \end{aligned} \quad (6)$$

and

$$\begin{aligned} &\left[\frac{7}{3}\alpha\beta^5 - \left(\frac{10}{3} + \frac{5b^2}{3}\right)\alpha^3\beta^3 + 2b^2\alpha^5\beta\right] (b_m \alpha^2 - y_m \beta) G_a^m - \\ &\alpha^2 \left\{ s_0 \left[\frac{25}{6}\alpha^3\beta^4 - 2\alpha^7 - 3\alpha^3\beta^4\right] + r_{00} (b^2\alpha^2 - \beta^2) \left(\frac{5}{6}\alpha\beta^3 - \alpha^3\beta\right) \right\} = 0 \end{aligned} \quad (7)$$

Eliminating $(b_m \alpha^2 - y_m \beta) G_a^m$ and α^2 from (6) and (7) and rewriting the form that is obtained, yields

$$A + B\alpha^2 + C\alpha^4 + D\alpha^6 + E\alpha^8 + F\alpha^{10} + G\alpha^{12} = 0 \quad (8)$$

where

$$\begin{aligned} A &= -\frac{\beta^{11}}{27} r_{00} \\ B &= \frac{\beta^9}{27} b^2 r_{00} - \frac{7\beta^{10}}{27} s_0 + \frac{11\beta^9}{36} r_{00} \end{aligned}$$

$$\begin{aligned}
C &= -\frac{5\beta^7}{6}r_{00} - \frac{11\beta^7}{36}b^2r_{00} + \frac{2\beta^8}{9}b^2s_0 + \frac{37\beta^8}{36}s_0 \\
D &= \frac{7\beta^5}{3}r_{00} + \frac{5\beta^5}{6}b^2r_{00} - \frac{17\beta^6}{18}b^2s_0 - \frac{34\beta^6}{9}s_0 \\
E &= -\frac{7\beta^3}{3}b^2r_{00} - 2\beta^3r_{00} + \frac{22\beta^4}{3}s_0 + 3\beta^4b^2s_0 \\
F &= -8\beta^2s_0 + 2r_{00} - b\beta^2b^2s_0 \\
G &= 4b^2s_0 + 4s_0
\end{aligned} \tag{9}$$

From(8), we can know A can be divided by α^2 . Note that β^5 is not divided by α^2 , then there is a scalar function $\rho = \rho(x)$, such that $r_{00} = \rho\alpha^2$. Then A and B become

$$\begin{aligned}
A &= -\frac{\beta^{11}}{27}\alpha^2 \\
B &= \frac{\beta^9}{27}b^2\rho\alpha^2 - \frac{7\beta^{10}}{27}s_0 + \frac{11\beta^9}{36}\rho\alpha^2
\end{aligned} \tag{10}$$

Plugging them into (8), we obtain

$$\beta^{10}\left(-\frac{\beta}{27}\rho - \frac{7s_0}{27}\right) + \left(C + \frac{\beta^9}{27}\rho b^2 + \frac{11\beta^9}{36}\rho\right)\alpha^2 + D\alpha^4 + E\alpha^6 + F\alpha^8 + G\alpha^{10} = 0 \tag{11}$$

From (11), we know that $\beta^{10}\left(-\frac{\beta}{27}\rho - \frac{7s_0}{27}\right)$ can be divided by α^2 . Note that β^{10} is not divided by α^2 , then $-\frac{\beta}{27}\rho - \frac{7s_0}{27}$ can be divided by α^2 . It is impossible unless

$$\frac{\beta}{27}\rho + \frac{7s_0}{27} = 0 \tag{12}$$

That is

$$\frac{b_i}{27}\rho + \frac{7s_i}{27} = 0 \tag{13}$$

Contracting (13) with b_i yields $\frac{b^2}{27}\rho = 0$. Since $b^2 \neq 0$, then $\rho = 0$. From $r_{00} = \rho\alpha^2$ and (12), we obtain

$$r_{00} = 0 \quad s_0 = 0 \tag{14}$$

Plugging (14) into the form of the condition that (α, β) -metric is projectively flat^[1] yields

$$\left(\alpha^3 - \frac{\alpha\beta^2}{2} - \frac{\beta^3}{3}\right)(a_m l \alpha^2 - y_m y_l)G_a^m + \alpha^4(\alpha^2 + \alpha\beta + \frac{\beta^2}{2})s_{l0} = 0 \tag{15}$$

The coefficient of α must be zero (note: α^{even} is a polynomial in y^i). Then the above equation equivalent to

$$\begin{aligned}
&\left(\alpha^3 - \frac{\alpha\beta^2}{2}\right)(a_{ml}\alpha^2 - y_m y_l)G_a^m + \alpha^5 s_{l0} = 0 \\
&-\frac{\beta^3}{3}(a_{ml}\alpha^2 - y_m y_l)G_a^m + \alpha^6 s_{l0} + \frac{\beta^2}{2}\alpha^4 s_{l0} = 0
\end{aligned} \tag{16}$$

From the above equation we can see $s_{l0} = 0$. By (14), β is parallel with respect to α . Plugging $s_{l0} = 0$ and $r_{00} = 0$ into (4) yields

$$G^i = G_a^i \tag{17}$$

Since F is projectively flat, then there is a function $P = P(x, y)$ such that $G^i = P y^i$, where P is homogeneous in y of degree one. Then G_a^i , that is, α is projectively flat. On the other hand, it is clear that the converse is also true by the condition that (α, β) -metric is projectively flat^[1]. This completes the proof.

Furthermore, for the higher order approximate exponential metric, we obtain the following

Theorem 2 The $(k-1)$ -th ($k \geq 3$) approximate exponential metric $F_\infty = \sum_{k=0}^{\infty} \frac{\beta^k}{\alpha^{k-1} k!}$, is locally projectively flat if and only if

- (i) β is parallel with respect to α ;
- (ii) α is projectively flat, i. e. of constant curvature.

Proof Assume F is projectively flat, by the condition that (α, β) -metric is projectively flat Finsler metric^[1], we obtain

$$\begin{aligned}
 & 2\left(1 - \sum_{k=2}^n \frac{(k-1)s^k}{k!}\right) \left\{ \left(1 - \sum_{k=2}^n \frac{(k-1)s^k}{k!}\right) + (b^2 - s^2) \sum_{k=2}^n \frac{s^k}{k!} \right\} (\alpha_m \alpha^2 - y_m y_l) G_a^m + \\
 & 2\alpha^3 \sum_{k=0}^{n-1} \frac{s^k}{k!} \left\{ \left(1 - \sum_{k=2}^n \frac{(k-1)s^k}{k!}\right) + (b^2 - s^2) \sum_{k=2}^n \frac{s^k}{k!} \right\} s_{l0} + \left(-2\alpha^2 \sum_{k=0}^{n-1} \frac{s^k}{k!} \sum_{k=2}^n \frac{s^k}{k!}\right) (b_l \alpha - s y_l) s_0 + \\
 & \alpha \left(1 - \sum_{k=2}^n \frac{(k-1)s^k}{k!}\right) \sum_{k=2}^n \frac{s^k}{k!} (b_l \alpha - s y_l) r_{00} = 0
 \end{aligned} \tag{18}$$

When k is an odd number, let

$$\begin{aligned}
 X^0 &= 1 - \sum_{i=1}^{k/2} \frac{s^{2i-1}}{(2i)!} s^{2i} \\
 X^1 &= - \sum_{j=1}^{k/2} \frac{2j}{(2j+1)!} s^{2j+1} \\
 Y^0 &= 1 + \sum_{i=1}^{k/2} \left[b^2 \frac{s^{2i-2}}{(2i-2)!} + \frac{(2i-1)^2}{(2i)!} s^{2i} \right] \\
 Y^1 &= \sum_{j=1}^{(k-2)/2} \left[b^2 \frac{s^{2j+1}}{(2j+1)!} + \frac{(2j+2)^2}{(2j+3)!} s^{2j+3} \right] \\
 Z^0 &= \sum_{i=1}^{k/2} s^2 \frac{i-1}{(2i-2)!} \\
 Z^1 &= - \sum_{j=1}^{k/2} \frac{s^{2j-1}}{(2j-1)!} \\
 W^0 &= \sum_{i=1}^{k/2} \frac{s^{2i-2}}{(2i-2)!} \\
 W^1 &= - \sum_{j=1}^{(k-2)/2} \frac{s^{2j-1}}{(2j-1)!}
 \end{aligned} \tag{19}$$

Thus

$$\begin{aligned}
 X^0 + X^1 &= 1 - \sum_{k=2}^n \frac{k-1}{k!} s^k \\
 Y^0 + Y^1 &= 1 + \sum_{k=2}^n \left[b^2 \frac{s^{k-2}}{(k-2)!} + \frac{(k-1)^2}{k!} s^k \right] \\
 Z^0 + Z^1 &= \sum_{k=1}^n \frac{s^{k-1}}{(k-1)!} \\
 W^0 + W^1 &= \sum_{k=2}^n \frac{s^{k-2}}{(k-2)!}
 \end{aligned} \tag{20}$$

Then we obtain

$$\begin{aligned}
 & 2\alpha^{2k} (X^0 Y^0 + X^1 Y^1) (b_m \alpha^2 - y_m \beta) G_a^m + 2\alpha^{2k+3} (Z^0 Y^1 + Z^1 Y^0) s_0 - \\
 & 2\alpha^{2k} + 1 (W^0 Z^1 + W^1 Z^0) (b^2 \alpha^2 - \beta^2) s_0 + \alpha^{2k} (W^0 X^0 + W^1 X^1) (b^2 \alpha^2 - \beta^2) r_{00} = 0
 \end{aligned} \tag{21}$$

and

$$\begin{aligned}
 & 2\alpha^{2k} (X^1 Y^0 + X^0 Y^1) (b_m \alpha^2 - y_m \beta) G_a^m + 2\alpha^{2k+3} (Z^0 Y^0 + Z^1 Y^1) s_0 - \\
 & 2\alpha^{2k} + 1 (W^0 Z^0 + W^1 Z^1) (b^2 \alpha^2 - \beta^2) s_0 + \alpha^{2k} (W^0 X^1 + W^1 X^0) (b^2 \alpha^2 - \beta^2) r_{00} = 0
 \end{aligned} \tag{22}$$

Now with the same discussion in Theorem 1, we obtain $s_0 = 0$, $(\alpha_m \alpha^2 - y_m y_l) G_a^m = 0$, and $s_{l0} = 0$. Thus β is parallel with respect to α and α is locally projective flat. When k is an odd number, the proof is similar.

Acknowledgements: The author wishes to express sincere thanks to Professor Zhongmin Shen for the invaluable discuss and great help.

References:

- [1] Shen Z. Differential Geometry of Spray and Finsler Space [M]. Dordrecht: Kluwer Academic Publishers, 2001.
- [2] Shen Z. Projectively flat Randers metrics of constant flag curvature [J]. Math Ann, 2003, 325: 19 – 30.
- [3] Chen X, Mo X, Shen Z. On the flag curvature of Finsler metric of scalar curvature [J]. J London Math Soc, 2003, 68 (2): 762 – 780.
- [4] Benling Li. Projectively flat Matsumoto metric and its approximation [J]. Acta Mathematica Scientia, 2007, 27B(4): 781 – 789.
- [5] Shen Z. Lectures on Finsler Geometry [M]. Singapore: World Scientific, 2001.
- [6] Shen Z. Projectively flat Finsler metrics of constant flag curvature [J]. Trans of Amer Math Soc, 2003, 355(4): 1713 – 1728.

特殊的射影平坦 (α, β) -度量

相春环¹, 程新跃²

1. 重庆文理学院 数学与计算机科学系, 重庆 永川 402160

2. 重庆工学院 数理学院, 重庆 400050

摘要: 研究了近似指数度量并得到二阶近似指数度量射影平坦的充要条件是 α 射影平坦, β 关于 α 平行. 且对高阶指数度量也得到了相同的结果. 这里, $\alpha = \sqrt{a_{ij}y^i y^j}$, $\beta = b_i y^i$.

关键词: (α, β) -度量; 射影平坦芬斯勒度量; 指数度量; 近似指数度量

责任编辑 章吉康